EAS UN Http://www.china-easun.com
ESCTHESEL(MITRE)

BSmA

ESCT — 50 x 80 x 50 — LB

P 7722 B E R

Inn; Stroke2 Mounting Type

= f —n =A: BRE
ﬂ-?_/l\llodel Diameter 17181 Blank:Basic

WiTiRE Stroke1 LBEIEEER

Double Stroke LB:Front and Rear Fixation

Type FARTEZR

FA:Front Flange

s 4

ASITMELE H40mm, 175214100mm, 3322480mm, HH#3K, RFALB
T EERRMRARTRIL, REBHITHBRS A,
] ﬂ‘ ESCT-40x100x 80 - LB

ERFERT

A+281+82
B C+281+82
E F G U+S1+82 G1 Ut+S1 G
|
— N N ‘
l O D O f
- } %g — _ 1N ol o
© © O @
W
N_Q Q Q Q| N 8-LiAM/Depth M
#s
lnﬁgg%ma Code A B © D E F G G H 1 J
32 233 47 186 28 32 15 28 56 22 17 6
40 235 49 186 32 34 15 28 56 24 19 7
50 243 57 186 38 42 15 28 56 32 22 8
63 249 57 192 38 42 15 28 56 32 22 8
80 289 75 214 47 54 21 33 66 40 30 10
100 301 75 226 47 54 21 33 66 40 30 10
#S
2 Code K L M N (o} P Q R S T u \Y w
Inner Dia.
32 M10X1.25| M6X1 11 15 G1/8 5 6.5 6.5 46 33 37 12 10
40 M12X1.25| M6X1 11 15 G1/4 6 6 8.5 51 37 37 16 14
50 M16X1.5 M6X1 11 15 G1/4 7 5 9 62 47 37 20 17
63 M16X1.5 | M8X1.25 9 14 G3/8 7 5 10 75 56 40 20 17
80 M20X1.5 | M10X1.5 15 17 G3/8 7 5.5 1 94 70 41 25 22
100 M20X1.5 | M10X1.5 15 17 G1/2 7 9 11 112 84 47 25 22

HERITRIESAATKA



